1 18 2 10 21 18 28 3 18 2 9
18 3 27
2 10 0.001
s 2 21 0.001 001
(0,12 ) 2 8 0.001
2 9 0.001
2 10 14
opm 2 21 4 20
(0,712 ) 2 8 1
2 9 12
2 10 24
opm 2 21 18 50
(0,212 ) 2 8 33
2 9 26
2 10 5
opm 2 21 2 20
(0,212 ) 2 8 18
2 9 8
2 10 0.00053
ng-TEQ/T, 2 21 0.00000046 01
(012 ) 2 8 0.00000034
2 9 0.00000046
o 2 10 10
0712 ) 2 2 6 30
2 8 12
2 9 13
3 6 0.01
2 21 0.01
mg/m? 2 8 0.01
2 9 0.01
2 10 0.01
2 21 0.01
mg/m? 2 8 0.01
2 9 0.01
2 10 01
2 21 01
mg/m? 2 8 01
2 9 0.1
2 10 6.3
2 21 6.0
2 8 6.8
2 9 72
1 1
1 1 2 10




